112.

KEERE

A FERL104£3A31H (%)
B4 % RZAE[E 439

— £ 96. 1 24 It ¥ #E 95.9
1 ;4 = 100.0 . 25 =4 &3 95. 7
2 o 99. 8 26 oo 95.4
2 R B | 99.8 27 B W 95.3
2 ith il 99. 8 28 BRE 95. 2
5 & il 99. 6 29 & H 94.3
6 & = 99.5 30 53 B 93.5
7 b3 B 99. 4 31 =1 vice 93.3
8 = # 99. 2 32 & = 92. 4
9 i3 ) 99, 1 33 |©F 3E 92.0
10 T2 B 99. 0 34 & = 91.7
11 = i 98.5 35 G PN 91.3
12 £ 5 98. 3 35 & % 91. 3
13 & JH . 98.2 37 =1 ] 90. 9
14 3 ] 98.0 38 15 B 90. 6
15 %= B 97.7 39 (L m} 90. 3
16 =y % 97.5 40 £ ] 90. 1
16 by B 97.5 11 e = 89.5
18 x= N 97.3 42 i 89,2
18 1L 5] 97.3 43 = * 88.6
20 & =7 96.9 44 x 2 87.5
21 ] 1] 96. 6 45 %* % 87.0
29 # e 96. 2 46 K FH 86.0
22 1 bz 96. 2 47 it R 81.8
o =
- BEHHPT  KEER
- BHFE BAKAODSBADXI00
- B TFERORKADL, 5,389, 640 N T8I,
(2EE, 121, 288, 853 A)
W) fARAR &, LAGE, BEKERVCERKEIZLY, BEICHERBKE
ZFTWBARTH D,
BAOE, SMETFRICBWTEREFNEHF L TVWEERLO0FE4A 1 BE
EAOTHSD,

— 112 —





